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OSNS 29 AQIEE 23 80,0002 122 960
405 XtoHE S| 1,300 0 1,300
01 AL SE 3 S| 1,300 0 1,300
O3tmet 2 1,300, 0002 * 1CH 1,300
BHSAHY (222 ) 59,764 59,509 255
2l 59,764 59,509 255
=2 59,764 59,509 255
201 Yer2Y| 13,414 13,309 105
01 At222IH| 13,414 13,309 105
OZ2IE €U 135,0002 =4} »4CH 2,160
OzetZele EU 2,320




PN 23ESED
Y HH2HAH(2SSED)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
- SMEH 164,000 «2IH*1CH 328
-ZetEY 249,000 +444 2 1 CH 1,992
OBAEH 88,000& »2JH = 1CH 176
O=AEN7Y 1,918
- A4 21,000 702 A 1,470
—B4 33,0003 »88f A 264
—A3 23,0003 »88f A 184
ORNM2II=2+8Hl 10,0003 15« 12& 1,800
OANZIZ 2RSSl 7,000 «44]«15H 128 5,040
202 (44l 43,200 43,200 0
01 SLHAObI 43,200 43,200 0
OZLHH Bl 240,000 *15F 128 43,200
203 R =& 3,000 3,000 0
04 FEN2IHRFLY| 3,000 3,000 0
ORN2IHRFAHI 250,000 «12& 3,000
405 AHotE S HI 150 0 150
01 XM ESZHSHI 150 0 150
(OF=E D] IEd 150,000 *1CH 150




